Softstarter type PSTX470...1250
Spare part instruction - Replace the plastic details

1SFC132113M0201 January 2016 Rev A
EN | Spare part instruction Softstarter type PSTX470...1250 Replace the plastic details
General

For complete information, see 1SFC132081M0201 -
Softstarters Type PSTX30...PSTX1250, Installation and
Commissioning Manual available on: http://www.abb.com/

Service and repair should be performed by
authorized personnel only. Note that unauthorized
repair affects safety and warranty.

lowvoltage
1. PSTX470...1250 2. PSTX470...1250 3. PSTX470...570
- Replace the cover - Replace the CB bracket 4. PSTX720...1050

5. PSTX1250
- Replace the barholder

viy AL HRHD
Power and productivity
for a better world™ " l' I.




Safety information

AA . Warning! A qualified electrician must carry out installation, commissioning and service on the
product by following installation standards and regulations. The product user hazardous voltage that can cause death or
serious injury. Always disconnect power before working on equipment. Do not touch terminals when voltage is applied,
output terminals can have live voltage even when the device is in off position. The product should only be used within
the specified ratings. Check that you have the correct product in regards to mains voltage, supply voltage and rated
product data.

A& . Varning! Installation, idrifttagning och service av denna produkt skall endast utforas av behorig
el-personal. Sakerhets- och installationsnormer skall foljas. Produkten anvénder livsfarlig spanning, innan arbete
utfors ska alltid spanningen franskiljas. Ror inga anslutningar nér produkten ar spanningssatt, anslutningarna ar
spanningssatta aven nar produkten ar i franlage. Produkten skall endast anvandas inom dess specifierade data,
kontrollera den gentemot huvudspanning, kontrolspanning och évriga markdata.

A& . Warnung! Installation, Inbetriebnahme und Service dieses Produktes darf nur durch qualifiziertes
Fachpersonal unter Beachtung der nachfolgenden Hinweise und Erklarungen erfolgen. Die in dem Gerat vorhandenen
Spannungen kénnen bei Berlihrung zu todlichen oder ernsthaften Verletzungen fihren. Vor Arbeiten an dem Gerat ist
grundséatzlich die Versorgung abzuschalten. Bei Anliegen der Versorgungsspannung durfen keine Klemmen berUhrt
werden, an den Ausgangsklemmen kann auch bei ausgeschaltetem Gerét eine gefahrliche Spannung anliegen. Der
Einsatz des Gerates darf nur innerhalb der spezifizierten Bedingungen erfolgen. Uberprifen Sie vor Einsatz, dass die
Geréaetype bezlglich Versorgungsspannung, Schaltspannung und sonstiger Daten den Anforderungen entspricht.

A& . Avvertenzal! Linstallazione, la messa in servizio e la manutenzione di questo prodotto devono
essere effettuate solo da un elettricista qualificato, seguendo fedelmente le disposizioni in materia di installazione

e sicurezza. Il prodotto utilizza tensioni pericolose che possono causare gravi danni o morte. Scollegare sempre
I’alimentazione prima di accedere all’apparecchio. Non toccare mai i terminali quando I’apparecchio € sotto tensione:
i terminali di uscita sono in tensione anche quando I'apparecchio € SPENTO. Prima dell’istallazione; verificare di

aver scelto il prodotto corretto specialmente in termini di tensione di alimentazione, principale ed ausiliaria, ma piu in
generale per tutte le caratteristiche tecniche. Il prodotto va utilizzato solo nelle condizioni specificate.

AA @ T 5! gzt R RIE T FIE B A S L TR 47 e B 22 SR, -
7 I REE A B [E ™ B A BRI F T © TE7 d B TR IE T 55 0T HR © A FRINR AT 82 el 1 > 7 dn RS
Wt 9A B o PR IRMUE BUEEER - B EEEEE - RIS R RS HA a7 mE -

A& . Avertissement! Un électricien qualifié doit éxecuter I'installation, la mise en service et I’entretien de
ce produit en suivant les normes d’installation et les regles de sécurité. Le produit utilise une tension dangereuse qui
peut causer la mort ou des blessures graves. Toujours débrancher I’alimentation avant de travailler sur I’équipement.
Ne teuchez pas les prises de raccordements lorsqu’une tension est appliquée, les prises de raccordements de sortie
auront toujours une tension résiduelle, méme si I'appareil est sur OFF.

Le produit doit étre seulement utilisé dans les calibres spécifiées. Vérifiez que vous avez le bon produit en ce qui
concerne la tension du secteur, la tension d’alimentation nominale et les données produits.

A& . OcTopoxHo! YcTaHOBKa, BBOA B aKCnnyataumio n obcnyxunsaHune gaHHoro o6opyaoBaHus OOMKHbI
NpPOM3BOANTBLCSA KBAaNNUUMpPOBaHHbLIM NEPCOHANoM, cneymansHo AONYyLEeHHbIM K TakuM paboTam, B COOTBETCBUU

C OEeWCTBYOLWNM 3aKOHOA4ATENbCTBOM N TpeboBaHNAMU NpeabaBnaeMbiMU K 06CNyXNBAHUIO 3NEKTPOYCTaHOBOK

n obecneyeHunto 6esonacHocTn. B nsgenum ucnonb3yeTcst onacHoe Ans YenoBeka HanpsiXeHue, KOTOpoe MOXeT
NpMBECTU K CMEPTU UNn cepbe3HbiM TpaBMaM. Bceraga oTknovante HanpsikeHue nepeq Hadanom nbbix paboT Ha
obopynoBaHun. He goTparvBantecb 40 KIEMM U TOKOBEAYLIMX YacTen Korga npunoXeHo HanpsbkeHue. Ha BbIxogHbIX
KrnemmMax MOoXeT ObITb HanpsxeHne gaxe ecnv npudop BeiknoveH. MNpubop AomkeH NCnonb30BaTbCA CTPOro B
COOTBETCTBMU C 3asABMNEeHHbIMM napameTpamu. lNpoBepbTe, 4TO NpUGOpP NogobpaH NpaBMbHO U HOMUHAlbHbIE

napameTpbl HAXogAaTCA B COOTBETCTBUN C CUNOBbLIM HanpaXXeHnem n HanpaxeHnem ynpasneHusa.

On g sl 13gd Blaall 5 Saeadll 5wl i) Jlaely slLall (el Gl oS Guigall sl il o sy | piad

Baairall Al da g g Apadladl Al eI ol Sl 5 S sl Aadail g L) IS (e lld g5 36 )

e Janll ey J8 Ll jaiae Juadl Lol | 3l ol Ala¥) &igand (535 38 Hhad aga adieg 3 eaY) (e g sl 13
ot 22y Jin 3¢l Lading Jaa i) il skl 2 jlae 030 Gulae dea M (35S Ladie Jaa i) il hal GualiY | Sleal)
Dradd bl Jleall Lo @l pian e Laila ol | 3aaas 4 (e 4l Lo ae daladind sy Jleall 138 2gall jaas

- DL Baasall sl g aa il g Al sal)

2 | Spare part instruction - Replace the plastic details | 1SFC132113M0201



to prevent

ESD) damage to the

)

(

- Replace the plastic details |

WARNING
A When performing maintenance on the Softstarter,

A

h

Always make sure that the power supply is

1. PSTX470...1250
- Replace the cover

an antistatic strap must be used. The antistatic
strap should be worn on the wrist, and be
connected to an electrical ground

electrostatic discharge

Softstarter.

switched off before doing maintenance on the

Softstarter.

WARNING

N\

Tx 20

M3,5x12 M4x12

Tx 20

.5 Nm) (1,6 Nm)

Tx 15
M3,5x12  M4x12

0

(

1250

2. PSTX470...

4
O]
X
O
©
-
O
m
@)
(O]
h
4+
()
(@]
«
o
()
oC
I

o
©

Tx 20

Tx 15
M3,5x12 M4x12

(0] 02\%/
_mmm N Z
o © 2 £Ie
. S..m T 00 =
[—— E— @« - % m o< ~g
IIIIHIIHIIH@ NJO S W O.m :‘IuﬂN )
= Q O o) + Iy
S a o 25250 US%
. 7S Eo+=c @ =c
J \ = N = ﬂsnum
&/ = o9 o W 090§
WA\ == © S £0OD
/4 o= O3 o Q P
{ 2% a c o 2dQAQ
\/r= o E 853290
\ i) 59 0sW
Q, =) \ B ..m.mb%/a.v\
v NBYT R ; S T80 o>
MNGE = £83cs
o/ \\ NS em_l.v ._Ulmah
\ / K7/ £ 0 DE G o O
c
™ 7 \ o Sx 5 S8585 \
Z : T O LuehHE
< o |2 L o > ® O
S Egc |5 2cLyc
Z 9238 ||Z 28508
C 5c2||L 528352
L 255 ||S £52085
WASS WWSade
A_ Am

| Spare part instruction

1SFC132113M0201



)

When performing maintenance on the Softstarter,
an antistatic strap must be used. The antistatic

WARNING

p—
(o)
o
o
e
fN—
©
o
)
h
=
©
O
<
Q
[}
-
1

<

3. PSTX470...570

and be

WARNING

strap should be worn on the wrist

to prevent

damage to the

connected to an electrical ground

switched off before doing maintenance on the

Always make sure that the power supply is
Softstarter.

electrostatic discharge (ESD

Softstarter.

)

o
N
x
[

N
-
X
<
=
o~
o
X
©
O e
=

Tx 15

Hexagon n.8
M10x40

Tx 20

M3,5x12  M4x12
(0,5 Nm) (1,6 Nm)

\

1SFC132113M0201

| Spare part instruction - Replace the plastic details |



damage to the

ESD)

(

When performing maintenance on the Softstarter,
an antistatic strap must be used. The antistatic

strap should be worn on the wrist, and be
connected to an electrical ground, to prevent

electrostatic discharge

Softstarter.

WARNING

A
At

Tx 20

Tx 15
M3,5x12  M4x12

D0 *

switched off before doing maintenance on the

Always make sure that the power supply is
Softstarter.

- Replace the barholder
WARNING

N\

4. PSTX720...1050

| Spare part instruction - Replace the plastic details |

1SFC132113M0201



WARNING

Al When

A

o
(0]
£
TE
e SO
+— N oc
s O >
Scodg
N
T o+
Qoc o0
LCcao=D
= . .©
C .30 E
%]
9D S8
8Hr=30°
eS05n
[CROE )
C O @]
e..LnCI\
CeOct o
T2CcoOOD
amrcr
Ecolag
[ON e
03326
.MUGW.B
EnL o
508+~ 0O |
=i ke k=1
STopTO
ethtt..n
pnbscsa
= eﬁrut
Saoc+o
CgcoE
cs=090
TN OOW

- Replace the barholders

Vi

5. PSTX1250

switched off before doing maintenance on the

Always make sure that the power supply is
Softstarter.

WARNING

S10NpoId [04U0D gy daV ‘G0-10-9+02 ‘LOZOWE L L2€LO4S | ‘uononisul Led aleds ‘0Gg 1L 0L7X1Sd 8dAL Jepelsyos

3,5x12  M4x12
5Nm) (1,6 Nm)

Contact us

ABB AB

SE-721 61 Vasteras, Sweden

Telephone: +46 (0) 21 32 50 00
www.abb.com/lowvoltage

Control Products

Low voltage Products

AL 1D ID
MRpp

Power and productivity
for a better world™

Specification subject to change without notice.

© Copyright 2015, All rights reserved.



